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Common Factors

Copy and complete each of the following :

a) 2x+6 = 2(x + ) ) S5a+20 = 5(a + )

el dm-24 = 4( - ) d) 3f=6 =3 - )

&) Sx+3py = 5( + ) 1 6p-12¢ = 6{ - )

) 3d=12e = 3( - ) i) 1447k = 7( + )
Factorise :

a) 2x+8 £) Im+12 e) 4y —4
d) S5p+5 €) Aw—16 N Tu+21
z) 10z -20 i) 6+ 24 i) 2d -12
7l 5¢ + 55 k) 3k -3 1y Tw+Tx
nt) 4y + 8y ) tr—18s o) 2e+20f1
Factorise :

a) dx+10 b b —15 ) 4f+2
d) By -4 e) 122 +8 ia Gm+21
g 10a-6 By 9h+12 N 6r-14

i) 4g+18 k) B+18g N 12m =9



2x+13)
Sx+¥)

2{x+4)
B(w-2)
2d-6)
Hu +2v)

2(2x+3)
4(3e+2)
2(3r=T)

k)
i

b)
1)
J)

b)
£
7

ommon Factors SWErs

S{a +4)
6(p—24q)

3(m+4)
T{u+3)
S(r+s)
6fr —35)

2g—3)
3(2m+7)
2(2g +9)

<)
£)

c)

£)
k)

4(m — 6)
d — 4e)

Hy-1
10{z —2)
k-1
e+10f)

2021 +1)
2(5a—3)
2(4+9g)

d)
k)

d)
h)

(-2
2+ k)

Sip+1)
olh+4)
Tw+ x)

42y —1)
33k +4)
Hdm—3)



